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Biology Section-A, Botany

Time Allowed : 1%2 Hours Max. Marks -35
Pass Marks : 11"
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(Multiple choice/objective type Questions of 01 mark each) EI_\’-?[ﬁIW U3

The most stable ecosystem of the word is :
(a) Oceans

(b) Forest
(c) Grassland
(d) Pond
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The MIC in the Bhopal Gas Tragedy stands for :
(a) Methyl isocyanate

(b) Minimum inhibitory concentration
(c) Methyl isocyanides
(d) Maximum inhibitory concentration
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Which one is the female gametophyte :
(a) Embryo

(b) Egg
(c) Embryo Sac
(d) Antipodal cells
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Which is true regarding the germination of pollen grain and movement of pollen tube ?
(a) Hydrotactic

(b) Chemotactic
(c) Chemotropic
(d) Geotropic
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Darwin theory is based on :
(a) Natural selection

(b) Acquired character
(c) Mutation

(d) Struggle for existence
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Before the baking of the loaf of bread the bubble contains :
(a) CO, and Ethyl alcohol
(b) Only ethyl alcohol
(c) Only CO;,
(d) Methyl and ethyl alcohol
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Which enzymes cut DNA at specific sites ?
(a) DNA polymerase

(b) Tag-polymerase
(c) Topoisomerase

(d) Restriction endonuclease
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Lever mechanism of pollination in flower are insect pollinated and found in :

(a) Salvia (Sage Flower)
(b) Hydrilla
(c) Figs
(d) Maize
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Which of the cross will following will give the ratio of 1 : 1?
(a) TTxTT

(b) TT x tt
(c) Ttx Tt
(d) Ttxtt
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Which of the following is not used as fusogen in somatic hybridization ?
(a) High pH Calcium ions
(b) PEG
(c) Electroporation
(d) EDTA
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GROUP-B

(Very short Answer type question carrying 02 marks each)

Which two shows parallelism in evolution ?
(a) Root and insect
(b) Fruit and insect
(c) Flower and insect
(d) Leaf and insect
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What is pollenium? Name any two plant in which pollenium are found.
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What is emasculation? Which period of the day emasculation is done?
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GROUP-C

(Short Answer type question carrying 03 marks each)

Name the component genes of the lac-operon that controls gene expression.
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Match 1,2,3 with a,b, and c:
1. Zygote a. Triploid
2. Endosperm b. Haploid
3. Pollen grain c. Diploid
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What is the ploidy status of: (a) Nucellus (b) Megaspore Mother Cell (c) Functional
Megaspore.
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GROUP-D

(Short Answer type question carrying 05 marks each)

Explain the mechanism of expression of lac-operon.
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What do you mean by double fertilization?
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Match 1,2,3,4 and 5 a,b,c,d and e:

1. Anthophore a. Capparis
2. Androphore b. carnation
3. Gynophore c. Passion flower

4. Gyandrophore d. Fennel
5. Carpophore e. Gynandropsis
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